~
EXTREME MARQUEES

ANGE

DESERT SHADE AWNINGS
INSTALLATION

WHAT YOU WILL NEED

Before beginning installation please ensure you have two people to assist with installation and the following items; Stanley Knife, 13mm

Spanner (included), Measuring Tape, Table or Flat Surface, two Step Ladders.

PARTS LIST

The below items are included in the Desert Shade 90° package. Please ensure you have all parts before commencing installation.

a. L Bracket a. L Bracket b. U Connector d. T Bolt Set f. Tie Down Straps g. M8x55

(270/180 Awning) (90 Awning) & Pins Bolt & Nut Set
c. Square Connector e. Sandwich Plate

o
R |
o
AWNING MOUNT OPTIONS
o]

o Sandwich Plate & H ﬂ
T-Bolt Connector ° U Connection Square Connection

000

These T Bolt mounts are suited to Roof These U Connection mounts can be used The Square Connection mount can be

Racks and Roof Rack Platforms which have for mounting to Roof Racks that do not used for mounting to standard Roof Rack

a T-slot track system. have a T-slot track system, Roof Rack Platforms, Steel Mesh Platforms and other
Baskets and Roof Rack Platforms with round square or flat bar surfaces.

bars.

/./)

=




INSTALLATION INSTRUCTIONS

STEP 1.

Begin by laying out all of the parts and tools onto a flat surface. Ensure you have all items listed
in page one. It is best to use an elevated surface such as a table or bench.

T-bolt Bracket Installation: Option 1

STEP 3.

Start by removing any rubber covers from the
roof rack/roof rack platform tracks.

U-Connection Installation: Option 2

STEP 3.

Thread each of the U-Connectors around
the bar which you are wanting the awning
attached to e.g. Roof Racks/ Basket/Platform

STEP 4.

Thread two of the T-Bolts into each of the rack

tracks (front & back). These only need to be
threaded about 15¢m in.

STEP 4.

Be sure to add these to the front and back of
vehicle. With each on the Connectors in place
add the L Bracket onto the connectors.

Square Connection Installation: Option 3

STEP 3.

Wrap each of the Square Connectors around
the bar which you are wanting the awning
attached to e.g. Roof Racks/ Basket/Platform

STEP 4.

Besure to add these to the front and back of
vehical. With each on the Connectors in place
add the L Bracket onto the connectors.

With the awning laying mount side up, thread
the 4 M8x55 bolts into the awning tracks. Two
on the top track and two on the bottom.

STEP 5.

With all four T-Bolts in place add the L Bracket
to the racks. Secure using the washer & nuts

provided and 13mm spanner.

STEP 5.

Secure both brackets using the nuts and washers
provided. Tighten with provided 13mm spanner.
*Example above shows 270 awning bracket

STEP 5.

Secure both brackets using the nuts and washers
provided. Tighten with provided 13mm spanner.



Mounting to Vehicle

STEP 6. STEP 7.

Using a step ladder and measuring tape, measure the distance between the two L brackets Slide the M8x55 bolts into the same distance
mounted on the car. The distance between the brackets will vary depending on the style of apart as the L Brackets. This will assist with a
connectors and vehicle used. smooth attachment for the following steps.

~

STEP 8. STEP 9. STEP 10.

Using two people on step laddered bring the Carefully line up and thread the M8x55 bolts Add the nuts and washers to each bolt and
awning up to the L Brackets attached to the through the L Bracket holes. finger tighten.

vehicles roof.

STEP 8. STEP 9. STEP 10.

Before tightening the bolts, ensure the awning ~ Once positioned correctly use the 13mm Slide the awning towards the car along the
is in the desired position along the car. The spanner to tighten the awning to the roof racks until the it is approximately 15mm
awning position can be adjusted by slide it L Bracket. Awning is secure when it can no from roof rack/platform.

along the tracks either way. longer slide back and forth.

STEP 10. COMPLETE AWNING

Using the 13mm spanner tighten the 4 top
bolts. Awning is secure when L Bracket does
not move or slide on roof racks/platform.



o -

TS s Iy
N7 7 x \
A /\lx\ \{J >

S

¢ Py
I

IMPORTANT INFORMATION

Extreme Marquees Awning kits come with components to securely attach to most roof racks on the market. However, Extreme
Marquees does not guarantee our mounting components will be suitable for every roof rack or every application. It is the customers
responsibility to assure the awning is securely mounted to their vehicle. This may mean other 3rd party connection components

may need to be used. All bolts, connections & components should be checked prior to each time the vehicle is used. Any
component that shows any sign of wear, damage or degradation should be immediately replaced. Any loose nuts or bolts should be
immediately tightened.

call 1300 850 832

A email admin@extreme-marquees.com.au
EXTREME MARQUEES 0 @ @ 0 @ shop www.extreme-marquees.com.au



